Eaton Community College							
		College	YEAR ELEVEN 2021 21 958 11 B				
	L ORDERS MUST Online at www.car by Friday 18th De Using "DJQH" a be placed past the 'retu PREPACKAGED DE	npion.com. cember 20 s your cod rn date' but it r	.au 20 e				
STUDENT GIVEN NAME(s)	STUD	ENT SURNAME					
ADDRESS							
<u> </u>							
SUBURB		<u> </u>	TATE POST CODE				
PARENT/GUARDIAN MOBILE/PH	I I I I I I I I I I I I I I I I I I I						
PARENT EMAIL ADDRESS - REQUIRED SCHOOL SUPPLIED STUDENT EMAIL ADDRESS	<u> </u>						
Friday 18th December 2020.	be dispatched for FREE the week ending return date of Friday 18th December will i						
CAMPION A.B.N. 33 074 318 602	Your Campion Store 28 Kembla Way, WILLETTON WA 6 ⁻	155 08 6	1tact Us 240 2778 ales@campion.com.au				

Please ensure you keep a copy of your order, as the Original will be retained by us for office use.

How to order your resources

Helping your school / college

Please be aware that shopping with Campion, your school's/college's preferred supplier, ensures you receive the correct items and editions. You are also supporting your school/college as Campion assists your school community in many ways.

Options to order

Home delivery

- Order online at <u>www.campion.com.au</u> before the date on the front of your resource list to guarantee supply of all items. All online orders must be prepaid.
- Ordering instructions
- 1. Log on to www.campion.com.au
- 2. Click on Online ordering for parents and students.
- 3. Create your account.
- Please note: Creating an account enables you to track your delivery through Australia Post, place orders for multiple students in multiple schools with just one payment, amend your order and retrieve digital access for ebooks.
- 4. Select your school and enter in your 4-character Resource List code, which is on the front page of this resource list.
- 5. Select the year level and then choose the items you want to purchase. Then click on continue.
- 6. Enter in your delivery option and complete details.
- 7. Review and complete purchase.
- 8. Once completed an order confirmation will be sent to your email address.

9. If you have purchased any ebooks you will receive a separate activation email. You will need to follow the instructions within the email to complete the set up of each product.

Late Orders

Orders can still be placed online after your school's cutoff date, however these are considered late orders and may incur additional charges. **Delivery of these orders cannot be guaranteed prior to the commencement of the school year.**

'While You Wait' collection service (Malaga or Willetton)

Please note long delays can be experienced in the two weeks prior to the commencement of the school year and availability of all stock lines cannot be guaranteed at this time. All back ordered items will be posted and a delivery fee will apply.

Malaga - 751 Marshall Road, Malaga (next to Stratco)

Willetton - 28 Kembla Way, Willetton



Trading Hours

Monday - Friday 9:00 am - 5:00 pm

Extended Trading Hours 8:30 am - 5:00 pm(18th Jan 2021 - 6th Feb 2021) Saturdays 8:30am - 2:00pm(Jan 23rd, Jan 30th & Feb 6th 2021) Closed – Sundays & Public Holidays

Refunds

Refunds will be given on **TEXTBOOKS/WORKBOOKS ONLY** in **NEW** condition up to end of February 2021 or 2 weeks after the purchase date (whichever is later).

Digital products and Stationery items cannot be refunded.

We will gladly refund or exchange any goods deemed faulty from the manufacturer.

Have a Question?

Our website has answers to just about every question you might have, whether it's how to place your order, how to access your digital products or where to find our Retail Service Centres.

Visit www.campion.com.au/parents and find the answers you need quickly and easily.

INSTPRIHDWA

Please tick the items required in the box provided ☑ Qty ltem Item Unit Total Office Use Description No. Reqd Reqd Price \$ Amount \$ SCHOOL RESOURCES **STATIONERY - STARTER PACK** This is a Starter Pack and will equip your child to commence. These items are suggestions only and may be contained in other subjects. However, some items will need to be replaced/re-purchased as needed. P55551 2 2.80 Exercise Book A4 8mm 96 Page 1 1.40 P51353 Glue Stick Artline Purple 40gm 2 1 2.60 2.60 P50186 3 Highlighter Marker - Yellow 1 1.55 1.55 P50188 4 Highlighter Marker - Orange 1 1.55 1.55 P50194 Highlighter Marker - Green 5 1.55 1.55 1 P56095 6 6 0.35 2.10 Pen Ballpoint Cap Type Blue Medium P56213 Pencil Case Name Large 340mm x 170mm 7 1 3.15 3.15 P56240 Sharpener Pencil Barrel Single Hole (EL) 8 1 25 1.25 1 P50090 9 Ruler 300mm Wooden 1 1.10 1.10 P52086 USB Pocket Flash Drive 32GB - NO RETURNS 10 1 13.95 13.95 **BIOLOGY ATAR** P08245 WA ATAR Biology 1&2 (Print & Digital) (Term 1) [Skirving et al] 11 1 89.95 89.95 (New Edition for 2021) (Due Approx. February) P55097 4.95 Lever Arch File A4 Board 12 1 4.95 P55554 Exercise Book A4 8mm 128 Page 13 2 1.85 3.70 A scientific calculator is required for this course. **BIOLOGY GENERAL** P55097 Lever Arch File A4 Board 14 1 4.95 4.95 P56389 Loose Leaf Refills Reinforced A4 7mm Pkt 200 15 6.95 6.95 1 P55706 Index Dividers A4 Manilla 10 Tab Bright Colours 16 1 2.25 2.25 **CAREER & ENTERPRISE GENERAL** P52086 USB Pocket Flash Drive 32GB - NO RETURNS 13.95 13.95 17 1 P55697 Earphones Koss Ear Bud Type 18 1 18.50 18.50 P55442 2 Display Book A4 20 Pocket Black Refillable 19 2.00 4.00 P55551 Exercise Book A4 8mm 96 Page 20 1.40 1.40 1 **CERTIFICATE II IN BUSINESS** P52086 USB Pocket Flash Drive 32GB - NO RETURNS 21 13.95 1 13 95 **CERTIFICATE II IN HOSPITALITY** Note: Students require a set of black dress pants/skirt and dress shirt plus black closed-in shoes for practical assessments and functions. P55097 Lever Arch File A4 Board 22 1 4.95 4.95

CERTIFICATE II SPORT COACHING-CROSSFIT P56704 Whistle Plastic with Lanyard 23 7.15 1 P50883 Document Envelope A4 PP With Press Stud Green 24 1.25 1 P56095 Pen Ballpoint Cap Type Blue Medium 25 4 0.35 P56094 0.35 Pen Ballpoint Cap Type Black Medium 26 4

7.15

1.25

1.40

1.40

Please tick the items required in the box provided \downarrow

		Item	⊡ Item	Qty	Unit	Total
Office Use	Description	No.	Reqd		Price \$	Amount \$
	CHEMISTRY ATAR					
P50114	Notebook A4 120 Page Q595/P595 Spiral	27		2	3.10	6.20
P07624	WA ATAR Essential Chemistry 1&2 SB (with 2yr Online access) [Lucarelli]	28		1	77.95	77.95
	A scientific calculator is required for this subject.					
	CHILDREN, FAMILY AND THE COMMUNITY GENERAL					
	No additional items required.					
	DRAMA GENERAL					
P55697	Earphones Koss Ear Bud Type	29		1	18.50	18.50
P50194	Highlighter Marker - Green	30		1	1.55	1.55
P50188	Highlighter Marker - Orange	31		1	1.55	1.55
P50186	Highlighter Marker - Yellow	32		1	1.55	1.55
	ENGLISH ATAR					
P55551	Exercise Book A4 8mm 96 Page	33		2	1.40	2.80
	ENGLISH GENERAL					
P55551	Exercise Book A4 8mm 96 Page	34		2	1.40	2.80
	FOOD SCIENCE TECHNOLOGY -GENERAL					
P50114	Notebook A4 120 Page Q595/P595 Spiral	35		1	3.10	3.10
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	36		1	13.95	13.95
	HEALTH STUDIES ATAR					
P55554	Exercise Book A4 8mm 128 Page	37		2	1.85	3.70
P50883	Document Envelope A4 PP With Press Stud Green	38		1	1.25	1.25
P02245	WA Health Studies Year 11 ATAR 2E [Emily Lockhart]	39		1	70.00	70.00
P56095	Pen Ballpoint Cap Type Blue Medium	40		4	0.35	1.40
	HEALTH STUDIES GENERAL					
P07857	Health Studies: Year 11 General Pathway [Emily Lockhart]	41		1	40.00	40.00
P56095	Pen Ballpoint Cap Type Blue Medium	42		4	0.35	1.40
P50883	Document Envelope A4 PP With Press Stud Green	43		1	1.25	1.25
P55551	Exercise Book A4 8mm 96 Page	44		2	1.40	2.80
D04026		45	_	4	00.05	00.05
P04036	WA ATAR Human Perspectives 1&2 (Print & Digital) 8E [Whan et al] (New Edition for 2021)	45		1	82.95	82.95
P14453	Essential Dictionary of Human Biology (2E) [Newton]	46		1	59.95	59.95
P07362	WA ATAR Course Study Guide Human Biology Year 11 (Revised) [Peter Walster]	47		1	49.00	49.00
P55097	Lever Arch File A4 Board	48		1	4.95	4.95
P55571	Exercise Book 225x175mm 8mm 96 Page	49		2	0.95	1.90
	MATERIALS, DESIGN & TECHNOLOGY - WOODWORK GENE	RAL				
P56476	Sketch Book 297x420 A3 Spiral Non Perf 20LF	50		1	4.80	4.80
P56427	Safety Glasses - Spectacle style	51		1	9.95	9.95
P55439	Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	52		1	9.20	9.20
P56166	Pencil (HB) Copperplate	53		3	0.55	1.65

Please tick the items required in the box provided \downarrow

	Flease lick the items required in the bo	'n pi	-	\checkmark		
		Item	Item	Qty	Unit	Total
Office Use	Description	No.	Reqd		Price \$	Amount \$
P55272		F 4		4	054.05	054.05
P55571	Calculator Casio Graphic CAS Class Pad FX-CP400	54 55		1	254.95	254.95
P11818	Exercise Book 225x175mm 8mm 96 Page	55 56		2	0.95	1.90
P11819	WA ATAR Maths Applications Unit 1 (Print & Dig)(Rev. format) [Sadler] WA ATAR Maths Applications Unit 2 (Print & Dig)(Rev. format) [Sadler]	56 57		1	39.95 39.95	39.95 39.95
P07435	WA ATAR Mathematics Applications YR11 Course Rev Series-Rev [Shanahan	57 58		1	39.95 49.00	39.95 49.00
P50272	Mooney] Document Wallet Polywally A4 Blue Translucent	59		1	2.85	2.85
	MATHEMATICS ESSENTIALS GENERAL					
P07117	Mathematics for Aust 11 Essential Maths (Text/Digital) [Michael Haese, Sandra Haese, Mark Humphries]	60		1	52.80	52.80
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	61		1	38.95	38.95
P55571	Exercise Book 225x175mm 8mm 96 Page	62		2	0.95	1.90
P50272	Document Wallet Polywally A4 Blue Translucent	63		1	2.85	2.85
	MATHEMATICS METHODS ATAR					
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	64		1	254.95	254.95
P55571	Exercise Book 225x175mm 8mm 96 Page	65		2	0.95	1.90
P11820	WA ATAR Maths Methods Unit 1 (Print & Dig)(Rev. format) [Sadler]	66		1	39.95	39.95
P11821	WA ATAR Maths Methods Unit 2 (Print & Dig)(Rev. format) [Sadler]	67		1	39.95	39.95
P18349	WA ATAR Course Study Guide Mathematics Methods YR 11 Revised [Gregory Hine]	68		1	45.00	45.00
P50272	Document Wallet Polywally A4 Blue Translucent	69		1	2.85	2.85
	MEDIA PRODUCTION AND ANALYSIS ATAR					
P50844	Memory Card MicroSDHC 16GB Class10 with SD Adaptor-NO RETURN	70		1	14.95	14.95
P55901	Multi Card Reader Shintaro 11 in 1	71		1	16.95	16.95
P55697	Earphones Koss Ear Bud Type	72		1	18.50	18.50
	MEDIA PRODUCTION AND ANALYSIS GENERAL					
P55901	Multi Card Reader Shintaro 11 in 1	73		1	16.95	16.95
P50844	Memory Card MicroSDHC 16GB Class10 with SD Adaptor-NO RETURN	74		1	14.95	14.95
P55697	Earphones Koss Ear Bud Type	75		1	18.50	18.50
	PHOTOGRAPHY GENERAL					
P50844	Memory Card MicroSDHC 16GB Class10 with SD Adaptor-NO RETURN	76		1	14.95	14.95
P55901	Multi Card Reader Shintaro 11 in 1	77		1	16.95	16.95
P55697	Earphones Koss Ear Bud Type	78		1	18.50	18.50
	PHYSICAL EDUCATION STUDIES ATAR					
P13917	Phys Ed Studies ATAR Units 1&2 Student Text [Whipp]	79		1	79.99	79.99
P50883	Document Envelope A4 PP With Press Stud Green	80		1	1.25	1.25
P50186	Highlighter Marker - Yellow	81		1	1.55	1.55
P55554	Exercise Book A4 8mm 128 Page	82		2	1.85	3.70
P56095	Pen Ballpoint Cap Type Blue Medium	83		4	0.35	1.40
DEACAS	PHYSICAL EDUCATION STUDIES GENERAL	_	_			
P50883	Document Envelope A4 PP With Press Stud Green	84		1	1.25	1.25
P07622	WA Physical Education Studies: Yr 11 General [R Gaujers]	85		1	72.95	72.95
P55554	Exercise Book A4 8mm 128 Page	86		2	1.85	3.70
P56095	Pen Ballpoint Cap Type Blue Medium	87		4	0.35	1.40
P50186	Highlighter Marker - Yellow	88		1	1.55	1.55

Please tick the items required in the box provided \downarrow

Office Use	Description	ltem No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	PHYSICS ATAR					
P00495	Pearson WA Physics 11 SB/EB	89		1	89.95	89.95
P50114	Notebook A4 120 Page Q595/P595 Spiral	90		2	3.10	6.20
	A scientific calculator is required for this course.					
	PSYCHOLOGY ATAR					
P19293	WA ATAR Course Study Guide Psychology Year 11 (Revised) [Alana Brentnall]	91		1	40.00	40.00
	Optional purchase					
P01216	WA ATAR Psychology: Self & Others 1&2 (Print & Digital) 3E [Garton et al]	92		1	49.95	49.95
	VISUAL ARTS ATAR					
P65035	Visual Journal Green 60 Sht/120 Pg 240x320mm	93		1	17.95	17.95
P56081	Marker Artline #200 Black 0.4mm	94		2	3.60	7.20
P56082	Marker Artline #200 Blue 0.4mm	95		2	3.60	7.20
P52001	Pencil (2B) Goldfaber	96		6	0.55	3.30
P55467	Document Wallet A3 Polypropylene Envelope With Stud	97		1	3.50	3.50
	VISUAL ARTS GENERAL					
P58510	Eraser Plastic Pencil Large With Sleeve	98		1	0.40	0.40
P56081	Marker Artline #200 Black 0.4mm	99		2	3.60	7.20
P56082	Marker Artline #200 Blue 0.4mm	100		2	3.60	7.20
P52001	Pencil (2B) Goldfaber	101		4	0.55	2.20
P51353	Glue Stick Artline Purple 40gm	102		1	2.60	2.60
P65035	Visual Journal Green 60 Sht/120 Pg 240x320mm	103		1	17.95	17.95
P55467	Document Wallet A3 Polypropylene Envelope With Stud	104		1	3.50	3.50

Number of Boxes ticked:



Delivery, packaging & handling

ESTIMATED AMOUNT DUE

(PRICES CORRECT AT 12/11/20)

\$0.00

\$

☐ Yes, please email me with information on current Year 11 and 12 Study Guides.